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1. The position vector of a moving particle is given by r(r) = 2cos(r)i + 2sin(t) j + 3k

Find velocity vector v(t) and acceleration vector a(t) at ¢ =% (20 43)

2. Solve 2™ order differential equation (Initial Value Problem) as below (20 43)

] ! x
y =2y +y=e
Initial Conditions: y(0)=1,y (O) =0
3. Solve 2™ order differential equation as below (20 43)
y +2y +y= 1)
Where f(£) =u(t =1) = 2u(t—2) +u(t - 3), u(t) is unit step function defined as
u(t-a)=0, if t<a, u(t-a)=1 if t>a

and Initial Conditions: ¥(0) =0, y'(O) =0

4. Solve system differential equations as below:
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5. Find the half-range expansion of function below in Fourier Series. (205
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S(x)=— ifo< x <L
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f(x):%c—([,—x) if §<x<L




